109% 2 A% 2 Eue(l 0 F R % £

109.08.05
FAv A e (4) TREBL (S T) TR B (S T)
AEER | % ? ¥ o i #
REE|AEER | ow | & g | 4 - 4 4 7 g +a - ES v
(22) | « El DO I - i & & “ * i # =
s 7L qe
i i 2 N
447 | 3500 10 101 0 9 20 28.1 1.6 1.6 16.7 3.7 0.0 6.7 0.0 149.3
AT B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
F*F# [ 311,000 866 | 6,656 0 ]1205]1,200| 5,541 588 441 2,100 781 1,140 1,134 5,505 33,028
4¢3 | 12,800 72 220 11 | 527 | 351 151 306 277 223 182 865 410 1,727 635
- 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B 950 0 320 0 0 0 6 2 1 4 2 15 0 0 12
T Bk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
37 B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
51 24| 19,000 45 295 3 50 0 499 4 2 208 0 0 71 0 2,266
3 Rk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 HREk| 2,900 90 437 26 2 90 514 141 69 635 31 30 37 755 1,587
B 2,400 198 168 40 8 0 0.23 0.28 0.16 1.41 0.00 0.90 0.08 0.05 1.20
B4 25| 2,500 65 72 16 0 85 184 19 186 276 0 30 12 6 432
+ L&k 4,400 128 621 60 199 0 207 140 22 140 66 92 28 246 1,569
wiEy| 1,300 20 62 10 0 0 83 7 0 57 0 0 21 109 622
E@ gt 15,070 220 | 2,646 81 0 19 3,740 612 498 1,028 8 5,536 1,850 2,466 6,219
A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
£ 57 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
£FEy| 2,000 207 | 373 32 0 0 128 0 0 0 0 0 830 180 1,250
@ gk 29,200 732 0 0 0 0 1,108 232 186 210 110 44,690 9,790 3,620 6,500
3+ | 407,020 | 2,653 [ 11,971 [ 279 |2,000| 1,765 | 12188.84 | 2053.23 | 1683.86 | 4898.78 | 1183.88 | 52399.20 | 14189.54 | 14614.69 | 54271.71
B2t 407,020 18,668 22,008.58 135,475.14

SO F




109 2 MEFEHR(L ) FLEH L EP wi

109. 08. 05
Erp Sie A B (X)) FREEE(ST) EFREBH(DT)
AR~ S {QITIR %
prsmgm | ea ol fﬁ; N . . . i i
wi oo B R | (e B ) i LL\’ l‘%E/FFb);‘; ; % ES i & H # i 4E b B = 3 v
Der | R Bk " | T 4 1 ¥ g i i 3 « * o i =
3. &%) AR Sa 7T e !
i L B
R A
1 § 5 A 6 19 3 1,500 5 31 0 4 20 1.0 1.0 1.0 1.5 0.5 0.0 0.5 0.0 20.0
g A 2 ;g‘;; 6 28 3 2,000 5 70 0 5 0 27.1 0.6 0.6 15.2 3.2 0.0 6.2 0.0 129.3
|3 3,500 10 101 0 9 20 28.100 1.600 1.600 | 16.700 [ 3.700 0. 000 6. 700 0. 000 149. 300
L. 3, 500 140 52 156
FIFTEE A FE AR R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AT 3t 0 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000
8 3+ 0 0 0 0
1 Bl | FERLA 1 1 25, 000 28 287 0 0 1, 200 161 45 39 120 12 168 38 43 1,367
2 s E e | FERLR 2 1 50, 000 128 1,049 0 0 0 444 86 4 229 137 414 244 967 8, 881
3 Bl e | PR 3 1 60, 000 182 1,435 0 440 0 1, 340 227 195 607 363 200 171 765 6, 203
ke 4 s p ke | FERLR 4 1 58, 000 176 1,259 0 0 0 1,217 118 102 317 189 335 198 784 7,196
) Bl | FEELA ) 1 56, 000 154 1,132 0 0 0 1, 047 93 11 360 1 21 186 1,863 3,873
6 s p ke | FERLA 6 1 62, 000 198 1,494 0 765 0 1, 332 19 20 467 19 2 297 1,083 5, 508
I3 311, 000 866 6, 656 0 1,205 1, 200 9, 041 588 441 2,100 181 1,140 1,134 9, 905 33, 028
B 311, 000 9,927 9, 451 40, 807
1 S ETH | FAR 3 7 1 500 3 0 0 0 122 6.4 7.8 8.4 7.1 9.3 39. 7 29.7 47. 3 7.9
2 X TFH | FAE 3 14 1 1,500 ) 0 0 0 80 21.3 54. 6 49. 2 74. 1 41.1 29. 1 24. 6 2.4 38. 6
3 S ETH | RAR 3 28 1 1, 200 ) 0 0 60 0 2.7 3.9 4.7 6.5 1.2 27.6 31.6 91.2 68. 6
g | TKF f@i ? 1 17 1 500 4 0 0 23 0 1921 263 1 218 1 44 19.3 | 56.2 2.9 47. 6 9. 4
) SRR | A E 4 29 1 500 3 0 11 0 0 1.2 2.3 2.1 3.4 2.2 5.1 2.3 11.6 2.0
6 S ETH | RAR ) 9 1 1,500 ) 100 0 0 0 6. 1 5. 1 5.4 4.6 2.8 39.1 11.4 57.1 12.4
7 SRR | A E ) 16 1 500 3 0 0 40 0 6.7 9.4 9.6 17.4 14.7 27. 1 15.1 61.2 6.6
8 X TH | RAR ) 18 1 300 3 0 0 0 17 1.2 2.1 1.8 3. 1 3.8 6.4 2.7 21.9 2.5
9 SRR | A E ) 23 1 500 3 0 0 0 38 3.1 6.7 4.2 7.1 6.1 64. 1 1.4 79.5 6.5
A 10 S ETH | RAR ) 29 1 500 3 0 0 34 0 5.3 8.9 7.8 8.4 8.6 26. 9 3.4 28.7 18. 0
11 A I 6 7 1 500 5 120 0 0 0 3.4 7.1 6.4 3.5 9.6 145. 8 20.4 478. 4 155. 4
19 ok E |95LR 2 6 7 1 500 5 0 0 0 54 17.1 31.5 29.9 18.7 2.8 92.4 11.4 106. 9 89. 3
Vad L8
13 X TH | RAE 6 7 1 300 3 0 0 0 40 0.4 1.3 0.9 0.7 0.7 21.1 25.4 27.1 20. 4
14 S EH | AR 6 13 1 1,000 5 0 0 44 0 11.6 29. 1 33.4 26. 1 19. 8 19.3 4.7 34. 7 1.3
15 . N 6 13 1 1,500 7 0 0 70 0 9.6 24,7 27.1 11.3 1.3 67.1 48. 4 148. 1 86. 4
16 X HR | BRI 6 14 1 500 5 0 0 200 0 8.4 33. 7 22. 1 9.4 6.4 94. 7 79.2 233. 7 92. 4
17 A X TH | RAE 6 21 1 1,000 5 0 0 56 0 27.1 5l1. 7 36. 1 14.4 20.7 107.6 95.1 179.8 17.5
13 12, 800 72 220 11 527 351 151 306 277 223 182 865 410 1, 727 635
N 12, 800 1,181 1,139 3, 637
FlEre o LA FEEmBRE
= |3t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8 3 0 0 0 0
1 | =¥ ® | L | 6 | 27 2 950 0 320 0 0 0 6 2 1 4 2 15 0 0 12
A gk 950 0 320 0 0 0 6 2 1 4 2 15 0 0 12
A3 950 320 15 27




SRS LA 0§ EARERTE
T Fai?;?ﬁ ap 3“'
R 7 0 0
AN~ 55 EARE
375 R T
R 0 0
B HE eyt
VAR T3
% 3 0 0
H L
S 20 3 10 2 2 1 20
EE 22 3 80 5 2 2 250
bR 17 35 166 122
A 23 35 470
L1
. %% 30 2 50 0 0,07 | 0 0 0 0 0 0 0 0.30
¥ 1 B —
wem [PV " 30 2 50 3 8 122 15 752
so g | B70E 7 20 310 200
o [ 21 50 0 8 85 26 152
oAt iR
T3 5| 29 3 0 199 1 2 | 208 | 0 0 7 0| 2266
27 393 713 2, 337
FRT R LA 5 E A ALRE
% T
% 3 0 0
28 10 50 2 75 10 20 | 150 | 38 7 180 22
1515 7%
Stk
bl 20 3 15 8 8 8 I 2 10 30
F -t
A g T
3 5 16 I 2 50 2 80 2 | 0 | 160 9 8 200 30
1 Fhmy | 5 16 I 26 22 2 60 10 6 2 8 200
28 | b Arg | 5 16 I 2 32 2 2 20 2 0.5 2 19
6 EEY I 28 I 90 | 201 I I I 1 86
7 sk | 6 7 I 20 08 6 10 3 3 2 6 650
3 6 13 I 14 60 10 100 | 50 20 | 230 | 12 0| 330 10
9 FEw |6 i3 I 70 2 109 I I 27 3 6 2 100
10 6 26 I 3 10 20 3 80
13 90 | 431 | 26 9 | o514 | 141 | 69 | 63 | 31 30 37| 755 | 1,567
27 645 I, 390 2, 409
Y 16 175 10 00100 [ 0.0800 [ 0.0600 | 0.0400 0.5 [ 0.01 0.6
3
$i0e 20 10 20 0.0315 | 0.0288 0.1 | 0.00993
B s
R
A h o 27 8 112 0.1675 | 0.1580 | 0.1000 | 1.3500 0.2 | 0.05 | 0.046 | 0.5
14000-0
A 29 5 36 002452 | 0.013 0.02051 0.1 | 0.0t [0.00083] 0.1




|3t 2,400 198 168 40 8 0 0.23 | 0.28 | 0.16 | 1.41 | 0.00 0.90 | 0.08 [ 0.05 [ 1.20
@ 3+ 9,400 414 9 9
BB ¥R
L. N 5 500 20 72 1 0 0 1 0 20 0 0 10
H4 R (Zs
A ;; ‘};‘:fg 6 500 5 35 8 0 174 0 0 0 0 0 83
B % B 3 ”‘f’ﬁ‘ %j; 13 1,000 10 50 173 19 12 973 0 0 12 6 329
Bd 2% |og s
4 ;;g " ;ﬁg 17 500 30 16 0 2 0 0 2 0 10 0 0 10
7 3 = pi:2
)3 2,500 65 72 16 0 85 184 19 186 276 0 30 12 6 432
B3 2,500 238 664 480
AR (2 A&H
[ A 9 500 81 12 15 20 81
2 BEEE
2 |epm . 6 200 5 1.5 1 1 1.5 9.5
AR [2ea
3 |mn g 6 200 5 0.984 | 1.027 7.06 | 1.027 0.85 4.15
£ LB |2 A&
L A 16 550 126 1 9 6 10 116
£ AR BN
5 |myx |77 7 450 1 1 44 165
DR [ S
AR |,
6 |mmux [Z°7 29 200 1 3 91 31
T [FF
%L ﬁ\/%/} W ,9 £
145 7T |myx ;F ? 18 200 3 95 155.5
Tee |77
145 w g
8 |mumx ;F ® 16 200 9 2 507
EILECI
i i,‘%"ﬁ‘ W ,6 £
9 |mE% ;F ® 30 200 9 4 929 106
EILECI
10 ii?ﬁ b i f T 600 105 100 60 61 8.3 0.8 0.2 19.2 0.21 185.44 | 85.3
% IR, ik
T ERY 19
s e g 200 4 0.518 | 0.54 3.71 0.54 0.612 9.988
AR (284 21
2 lanae e 900 306 183 120 91 103 34 92 927 61 306
3 4,400 128 621 60 199 0 207 140 922 140 66 92 98 946 1,569
@ o3t 4, 400 1,008 576 1,936
— 7T o .
1 f;m Z # j;; ! 30 300 12 1 5 13 145
e 9 Lk | B 5 500 15 3 25 56.4
= LR
& 3 BEL | A 5 500 20 50 10 67 3.8 27 20 109 551.2
|3 1, 300 20 62 10 0 0 83 7 0 57 0 0 91 109 622
w3 1, 300 92 147 752




ZAF - »

Spe | e 10 25 80
[ i L 500 300
wEae i [k
S 17 100
2 |ay g | R 500 25 250
wEae i |k
s RS
FERT |5 A 18 12 1 15
3 |[kmum [ 500 30 200
w3
4 |FAR |FEw 15 300 30 15 20 2 80
5 |wda |wa = 16 300 60 60 50 5 200 100 50 100 300
FERT |5 A 22 200 23 5 20 15 50
6 |kEE AR
e 25 400 150 50 40 25 33 198 18 100 84
o ik
L, |Era 8 300 30 30 500 80 150 200
8 N .3 A
Fe .
bl KL
R 16 520 100 80 30 35 20 200 20 180 100
24T s T ik
R 28 200 30 50 20 10 225
10 ks |
(P e 8 300 35 20 80 100
AR |
g [ [RRT 14 500 150 10 15 150 5 50
FHE Lk
R 14 800 180 30 5 25 300 20 150
DEr/iE | RED
13 R b s
§/¥%E
RS EEZ 22 300 30 80 10 100 150 200 350
EX b
EERN R 26 200 30 100 10 50 80 200
15 kB |
o S 11 2,500 40 31 28 22 35 18 25 101 45
16 |##H |, 0
e 18 800 80 1 1 50
BHEE |p
g [Fra [ErE 11 500 90 10 3 4 200 5 50
RHE|#
g |ETE Ere 9 200 30 50 30
=) i
o0 PR | 10 300 100 210 130
=) i
o [® AR |B R 16 150 30 50 40
T EF"?J.!




99 e 17 100 30 20 30
TR
93 e g 23 200 40 30 70
TR
94 b 3 Ak 23 150 30 20 50
T 18
95 T fuAt 24 150 30 20 40 90
T 18
9% P AT AL 24 200 30 35 20
T 18
97 dioR B 28 300 30 10 15
R
98 B & B 28 150 30 5) 10 20
R
99 b 3 Ak 30 150 30 10 20
T 18
30 J 31 100 30 35 500 45
T R
31 3P AL 31 100 60 10 25 25
T 18
39 = E 3R 28 300 50 40 20 15 3 150 15 20
4\ ’-""i‘
1, s 30 600 215 15 31 19 2,000 100 200 100 2,100 1, 000 900 2,500
33 |77
4\ ’-""i‘
a4 o R 1 500 192 100 85 35 100 300 90 200
4\ ’-""i‘
35 %R 2 500 212 85 50 30 80 200 55 150 200
4\ ’-""i’
36 3 PR 3 500 221 120 80 50 150 130 80 120 150
4\ ’-""i’
97 %R 4 500 258 130 100 80 210 150 100 130
4\ ’-""i’
a3 O g2 SR 9 200 80 10 10 50 50
o Bt
3 o g2 SR 9 100 30 1 1 2
o AT
15, 070 220 2, 646 81 19 3, 740 612 498 1, 028 D, b36 1, 850 2,466 6, 219
i 15, 070 2, 966 b, 886 16, 071
FIRTTE LR F AR
A 0 0 0 0 0 0 0 0 0 0 0 0 0
3 0 0 0
F)ET 0 F eyt
R 0 0 0 0 0 0 0 0 0 0 0 0 0
0 0 0
FlRT LRy
57 0 0 0 0 0 0 0 0 0 0 0 0 0
0 0 0
1 % “i&g“ 6 2,000 207 373 32 0 128 0 0 0 0 830 180 1,250
£FF 2,000 207 373 32 0 128 0 0 0 0 830 180 1, 250
2,000 612 128 2, 260




21

1 350 A% 3 1 7, 900 125 0 0 0 0 380 110 130 200 100 | 15,000 [ 1,700 0 0
2 3~57 450 * 1 200 29 0 0 0 0 180 70 30 10 10 110 70 160 190

- 3 3~51 Fko| 3+ 1 4,900 78 0 0 0 0 140 50 0 0 0 3,400 | 1,420 130 1,520

= 4 3-57 g % 3+ 1 16, 200 507 0 0 0 0 408 2 26 0 0 26,180 | 6,600 | 3,330 4,790
|3 29, 200 732 0 0 0 0 1,108 232 186 210 110 [ 44,690 [ 9,790 | 3,620 [ 6,500
a3 29, 200 732 1, 846 64, 600

2RAT |3 407,020 | 2,653 [11,971 | 279 [ 2,000 [ 1,765 | 12,189 [ 2,053 | 1,684 | 4,899 | 1,184 52,399 [14,190 [14,615 | 54,272
a3 407, 020 18, 668 22, 009 135, 475

% FUE % 106

L = 4

e 2

e 112




